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(b) False
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If f/<0on I,

then f is decreasing on 1.

—

Y %
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
0of 5 Topic 0460 10 pts




(a) True

T or

then f/ <0 on I.

If f is decreasing on 1,
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(a) True

T or

If fis cc down on I,
then f7 <0 on I.

(b)[False
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(a) True

T or

If f7>0 on I,

then f is cc dn on 1.

(b)[False
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(a)

(b) False

True

T or

If /<0 on I,

then f is cc dn on 1.
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T or F:
f''poson (1,2), f'(2)=0, f' negon (2,3)
— f has a local max at 2

(a)|True

(b) False
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max intervals of cc dn \
for f, if f(z) = —e %(x — 1)?(x — 2)3(x — 3)2.

" 02 0° 02

O 1 2 3

(2)[0,00)
(b)[1,00)
(€)[2,00)

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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max intervals of incr
for f, if f/(z) = 2?(xz —1)2/(x —2)3(z — 3)2.

f! 02 02 u3 U2
0 1 > 3
(a) [0, 00) NOTE:

f(2) and f(3)
DNE

(b)[1,00)
(€)[2,00)

(d) none of the above
0% 0% 0% 0%
. =N S AN
Correct: (2,3) and (3, o) |4 ==r==ruE=uus
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max interval of decr.
for f, if f'(z) = —(x — 1)2(z — 2)(x — 3)2.
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(2)[0,00)
(b)[1,00)
(€)[2,00)
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f"(x) = —(z — 1)%z(z + 1)

max intvl cc up

(a)[-1,0] -1 6 i

(b) [0, 00)
() [-1,1]

(d) none of the above
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f"(x) = —(z — 1)%z(z + 1)

max intvl cc up

(2) [0, 50) -1 0 :1

() [-1,1]

(d) none of the above
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